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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 are of 1 mark each.

Euclid’s division lemma states that for two positive integers a and b, there exist unique
integers q and r such that a=bq+r, where r must satisfy —

(A) 1<r<b (B) 0<r=<b
(C©) 0=r<b (D) 0<r<b

t o
In the adjoining figure, if D is mid point of BC, then the value of tan xo is :
an y

A

will terminate after :
225

The decimal expansion of the rational number

(A) one decimal place (B) two decimal places

(C) three decimal places (D) more than 3 decimal places

The zeroes of the quadratic polynomial x2+99x +127 are :

(A) Dboth positive (B) both negative

(C) one positive and one negative (D) both equal
The pair of linear equations 3x +4y+5=0 and 12x+16y+15=0 have :

(A) unique solution (B) many solutions

(C) no solution (D) exactly two solutions
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If A is an acute angle in a right AABC, right angled at B, then the value of sinA + cosA
is :

(A) equal to one (B) greater than one

(C) less than one (D) equal to two

If x=2sin0, y=2c0s?0 +1 then the value of x+y is :

(A) 2 B) 3 (©

1
2

If cos(a+B) = 0, then sin(a— ) can be reduced to :
(A) cosp (B) cos2p (C) sina

If AABC =2 ADEF, Z A=47°, ZE=83° the value of £C is:
(A) 47° (B) 30° (C) 40° (D) 50°

The empirical relationship among the Median, Mode and Mean of a data is :
(A) mode = 3 median + 2 mean
(B) mode = 3 median — 2 mean
(C) mode = 3 mean — 2 median

(D) mode = 3 mean + 2 median

SECTION - B
Question numbers 11 to 18 carry 2 marks each.

11. Show that every positive even integer is of the form 2q and that every positive odd
integer is of the form 2q + 1, where q is some integer.

Solve 148x + 231y = 527, 231x +148y =610
OR

4 3
—+3y=14, — -4y =23
X Y X 4
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If a and 1 are the zeros of the polynomial 4x%—2x + (k—4), find the value of k.
o

COSGC2A+ 1

If 3cotA =4, find the value of 5
cosecA—1

Write the following distribution as less than type cumulative frequency distribution :

C.L 0-10 [ 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70 - 80
Frequency 5 3 4 3 3 4 7 9

Find the modal class and the median class for the following distribution :

C.L 140 - 150 (150 - 160 | 160 -170 | 170 - 180 | 180 - 190
Frequency 6 28 48 30 8

In fig. 1, ST||QR. PQ = 6 cm, PR = 9 cm and PS = 2 cm. Find PT.

Fig. 1

In fig. 2, AABE= AACD. Prove that AADE~AABC

A
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SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19. Prove that 2 + /5 is an irrational number.
OR

1 . . .
Prove that ———— is an irrational number.

+3

Show that 9" can’t end with 2 for any integer n.

If o, B are the two zeroes of the polynomial 6y%—7y+2, find a quadratic polynomial

1 1
whose zeroes are Z and E

In fig. 3, XYZ is a triangle right angled at Y, XY =6 cm, £XZY = 30°. Find the length
of YZ and ZX.

X

30°
Fig. 3

If A, B, C are interior angles of AABC, show that :
cos2 é + cos2 (E] =1
2 2 )
OR

= sec26 .

cot(90°—8) N cosec(90°—8). sinf

Prove that :
tan® tan(90°—0)

Find the missing frequency for the given frequency distribution table, if the mean of the
distribution is 18.

C.L 11-13 | 13-15 | 15-17 | 17-19 | 19-21 | 21-23 [ 23-25
Frequency 3 6 9 13 f 5 4
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Find the mode of the following frequency distribution :

Marks 10-20 | 20-30 | 30-40 | 40-50
No. of students 4 8 10 12

In fig. 4, ABC is an isosceles triangle right angled at B. Two equilateral triangles are
constructed with side BC and AC. Prove that

ar AACE

1
2

arABCD =

Fig. 4

In fig. 5, ABD is a triangle in which £ DAB=90° and ACLBD. Prove that
AB2=BC x BD.

D

Fig. 5

The sum of the digits of a two digit number is 13. The number obtained by interchanging
the digits of the given number exceeds that number by 27. Find the number.

OR

The ratio of incomes of two persons is 9 : 7 and the ratio of their expenditures is 4 : 3. If
each of them manages to save Rs. 2000 per month, find their monthly incomes.
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SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29. Solve the following system of equations graphically and find the vertices of the triangle
formed by these lines and the y-axis.

3x+y—5=0, 2x—y—5=0

Draw more than ogive for the following frequency distribution and hence obtain the
median.

Height (in cm) | 135 -140 | 140 - 145 | 145-150 | 150 - 155 | 155 - 160 | 160 - 165
No. of plants 4 7 18 11 6 4

In a triangle, if square of one side is equal to the sum of the squares of the other two
sides, then the angle opposite the first side is a right angle. Prove this statement.

OR

Prove that the ratio of the areas of the two similar triangles is equal to the square of the
ratio of their corresponding sides.

Find all the zeros of the polynomial 2x*+ 7x3 —19x2 — 14x + 30 if two of its zeros are

N2, 2.

Prove that

tan6 — 1 +sect 1
tanf + 1 — secH secH — tan0

OR

If tan® +sinf=m and tan6 —sin® =n, show that m2—n?=4mn .

Prove that \/@ — secA + tanA
cosecA — 1

-00o0-
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%ﬁazbq+rﬁrwwaﬁ :

(A) 1<r<b (B) 0<r<b (C©) O0=r<b (D) 0<r<b

fedt T3 o & forg D o1 BC %1 7oA foreg 31 a9 20 oy w

tan y°

A

31

%WWW%‘@W:

(A) Teh WA TIM W
(C) i SuHerd T W

x2+99x +127 Tg&Iq 9gU< o IEIH B
(A) ST TR (B) <M FvmeHh
(C) TH ¥AIHE 3R Th FHMHS (D) SHI aTeR

s FEIHIT I 3x+ 4y +5=0 T 12x + 16y +15=0 F &A & :
(A) Hfgda g (B) ®gd &
(C) =% 7 T (D) 3% e
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AABC ® fS9a&T £ B 9V 1 T £ A =IAHI0 § T sinA + cosA T T BT
(A) 1% ITR (B) 1¥ da (Q) 183 (D) 2% IR

G x=2sin20, y=2c0s20 +1 & x+1 T AF ¥ :

a) 2 ®) 3 © =

Wﬁ:’cos(a+B)=O?ﬁsin(a—B)ﬂﬁﬁ%’qﬁﬁi@mm%:
(A) cosp (B) cos2p (C) sina

Ife AABC = ADEF, L A=47°, ZE=83°dd L C %l A1 © :
(A) 47° (B) 30° (C) 40°

g, AT AT HILA 1 SATIH T T
(A) WgcTh = 3 HIAR + 2 HIEA (B) wIgcdsh = 3 HIfEIehT —2 HIeA
(C) <gds = 3 "I — 2 HIleHh] (D) Wgd® = 3 HILA + 2 HIfeHehT

Ques-a
U9 WEAT 11 9 18 9k Uk U9 2 3H{Fk T & :

Tuigd foF Y% oA |H qUieh 2q o ®9 H a1 TS gk food quifer 2q +1 % &9 |
I STl q T YOI T |

TAR : 148y +231y = 527, 231x+148y = 610

a"

é+3y=14, E—4y=23
X X

AT o T L TG 402 — 20 + (k—4) F I=F B 1 k FT A @ FV
o
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2
A+1
14. % 3cotA =47 7 T G OFCATL
cosec"A—1

15. 91 SERAr seq &1 ' FH YhR &' GO9I IRl sed & &9 H ol |

T3t e1=qet [0 - 1010 - 20 (20 - 30(30 - 40(40 - 50{50 - 60|60 - 70|70 - 80
IRARAT 5 3 4 3 3 4 7 9

16. 701 sic &1 Sigersh qen wifedeRt 9 A1 A

T 37qae [140 - 150150 - 160 |160 - 170{170 - 180|180 - 190
IRERAT 6 28 48 30 8

17. ffd (1) ¥ ST||QR, PQ = 6 §Hl, PR=9 {H! 91 PS=2 9. @ PT fehiferd |

N

e

U armepfa 1

18. aT&fd (2) § AABE= AACD, fag ®IWT AADE ~AABC

A
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wUe-q
U9 WEAT 19 W 28 Uk U9 3 3k T el

fag Fifsa f& 2 + /5 T uiag 9@ B

aq"

1 .
maﬁmm@mﬁﬁam%l

TITed o on & fordR 1 Wi 2 W & & Wehell STl n T oTieh |

3 o [a W o 1 1
IfS o, B TGS 62— 7y +2 % I =, a1 I8 TgHd dguR 1d hifere ek =k PRk

B
K1

ATHIG (3) F XYZ Tk Tuahio] 319 €1 51 2 Y g9anion €1 afg XY =6 ¥, £ XZY =30°
Tl YZ T ZX 1 T A A |

X

30°

Y  3epfd-3 4

23. 3Ife A, B, C v AABC & 3T=: hIUT &I o1 <9Iz
c:oszé + cos2 (E] =1
2 2 )

ar

firg FRTT - cot(90°— ) N cosec(90°—8). sinf _ sec2e
tan® tan(90°—6)
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24, T SRERAT s AR W AT TRARAT 1A RIS, Il 39 s 1 71T 18 B |

T et [11 - 13[13 - 15[15-17(17 -19(19 - 21|21 - 23|23 - 25
IREARAT 3 6 9 13 f 5 4

25. T SRARAT 5icq H1 IgeTh T Rl |

EISIED 10 -20{20 - 30{30 - 40
ferenfeii 1 gem | 4 8 10

AT (4) §, AABC U GHfGaTg 51 € fS91 ~ Bgaanivr 81 <1 gof3ag et BC qem AC
Il W =1 1 T, d@ fag s

1
&9%d ABCD = 5 &%hd AACE

A epfa-4

27. &M (5) § AABD H§ £ DAB=90° 991 AC L BD d fig ®IfSlT AB2=BC x BD.

D
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T 3! W I &I & 3Rl w1 AN 13 T, & & AR i Saed W o &A1 TRt g 9
27 3fyer B, @ H& I F:U |

q7

3 AfFIET T T T U 9 : 7 3R S W 1 319W 4 : 3 €1 A A1 &) =afea wfa A
2000 %. i = KT A §, I STR! HIFTSH ATHSAT 1A L

Q|Ue-T
U9 WEAT 29 | 34 9% Uk U9 4 3k T gl

11 Y SRl ol T gN0 & & a1 Fys & 3 o fdener 9 &3 S SHl W@ aen
y-31&1 % BRI a1 B |
3x+y—5=0, 2x—y—5=0

=1 IReRar sied o1 ‘9 31fire e’ 1 A0 Wifeu e wifeereRT Jd Sifsa |

FaR (I.H) [135 - 140|140 - 145|145 - 150{150 - 155|155 - 160|160 - 165
qie} 1 wE 4 7 18 11 6 4

s ST afc freft s o T o 1 o 99 3171 §1 97 o a1 & A1 o SIeR 81 a1 ggal]
ISlT % 3Tk T T HI0 THHIV BT T |

a"

fag wIfTT < THEY Y & &R 1 STIU Sk W ST & T o A & SR Bl
gl

224+ 7x3 —19x2 — 14x + 30 & |t ¥=F F@ FU AR 36h QA IF V2, —/2 T 7

g =i

tan® — 1 + secO _ 1
tanf® 4+ 1 — secO secH — tan6

T
Ife tand + sind =m T tand — sind =n a1 <M m2—n2=4/mn .

g wifST ;. [cosecA + 1

cosecA — 1

= secA + tanA
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